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f'(x) = f'(x) = fO () =

f'(1) = f(1) = o)

(2) FRRofERE f(1) =1ogl =0 ITEELT, f(z) =logz ® z=11ZHBT5 3K
IRz Rk L.
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2. (1) BEL f(x) =cosx O 4 BEE TOEBRHKAZ KD K.

f'(x) = f(x) =

(2) BI% f(z) = cosx D x=0128BTF D 4 WP ERD L.

X =0I1ZBIT5 4 =
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¥ sinQ X2 cos 0 DIEIZAI7Z 72T L X OM? HEEZDL D TEHEIZLNZWAIZ=HA
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2. ROBIFD, By aWNBIT 5 1 R RE R X
(1) fz) =€ (z=0)
fla) =

2) f(@) = vE (x=1)
f@) =

3. ROBED, =018 25 2 Wi zRD &
(1) f(a) = ze”
fla) =

(2) f(x) = cos3x
fl@) =

4. RO, =018 2 3 wiFpl%ERKD &
(1) f(z) =e*

f(x) =
1
(2) f@) = 1
f(x) =
5. WOBED., =085 4 ikl z ko &
(1) f(x) =e"
fz) =

(2) f(x) =sinx
fz) =
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